RETAN XFX RE#ESHE ASBE 02
1. XORXZHNESRE L. (SH1, AK1530%, Bfk24208, C#4%)

1 (@=-3)(x+3)+z(z-T7)+B—-2)(x+1)

(2) 22 —4y? — 8x + 16
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2. ROXZHNBEE X, (SH1, A1 30F, B#k2520%, C#4sy)

(1) Bz—-1)(z—2)—(2zx—-3)(z—3)—28

(2)  (z+2y)(r—2y) —4y—1
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RETAN XFX RE#EE ASMBE 02 HBEHEH
1. XORXZHNESRE L. (SH1, AK1530%, Bfk24208, C#4%)

1 (@=-3)(x+3)+z(z-T7)+B—-2)(x+1)

=22 9422 —Te+3x+3—22—=z
=22 -5z —6

=(x+1)(x—6)

(2) 2?2 —4y? -8z +16

=22 — 8z + 16 — 4y?
= (z—4) - (29)°
=(r—44+2y)(xr —4-2y)

= (e + 2y — 4)(z — 2y — 4)
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2. ROAXZRESHEX. (SH17, A15308, B2 208, C#45)

(1) Bz—-1)(z—2)—(2zx—-3)(z—3)—28

=322 -6z —x+2— (222 — 62 — 3xr +9) — 28
=322 —Te+2—222+92—-9—28
=22 +2x-35

=(x+ 7)(x —5)

(2)  (z+2y)(z—2y) —4y—1

=a? —4y? —4y—1

=a® — (dy* + 4y + 1)

=z - (2y +1)?

={z+ @+ Dz -2y + 1)}

=(zr4+2y+1)(x—2y—1)
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